Use the information below to answer the following two questions (1-2)
Disks of polycarbonate plastic from a supplier are analyzed for seraich and shock
resistance. The results from 100 tlislts are summarized as follows:

’ Shock resistance

N High Low = vean
y.. N3 High 70 9 +1  dliagpams
Scratch resistance Sow 16 . % | A,

iG I Ve,
-‘\4, If a disk is selected at random, what is the probability that its scratch resistance is high or

its shock resistance is high?
A. 70/100 % EEiH

B. 79/100 M 36 -3
_ R6/100 o0 oo 1Y

L 95/100

\ 2. If adisk is selected at random, what is the pmbabllity that its scratch resistance is high
and its shock resistance is high?

70/100

. 9100
C. 16/100
D. 5/100

3. If P(A) = 0.4,P(B) = 0.3 and P(A N B) = 0.1, then P(A U B) is equal to

@ 04

B. 0.5 % 5 )
C. 06 TN

D. 0.7 -

4. IfP(A) = 04,P(B) = 0.3and P(A N B) = 0.1, then P(B U A) is equal 1o

A 04
B. 05
C. 0.6

O 07

i 5. How many different numbers can be formed by rearranging 22123627

A. 5040
6 210 7'
C. %40 -
D. 144 d / q‘

L]

-
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6. Which one of these variables is a continuous random varia

A. The number of cars sold by a car dealer in one month
B. The number of students who-

The amount of water in a 600 m! bottle
D. The grade given 1o a student, as a letter.

7. A batch of 30 injection-molded parts contains 6 parts that have suffered cxc-'-‘{ﬂ:';c
shrinkage. If two parts are selected at random and without replacement, what is

probability that the second pant selceted is one with excessive shrinkage? ¢ A/ 6) @

ﬁ':- "i Qkﬁ'ﬂ"“' P (AH?}NEJ
5. g:;“? ‘¢ -'."'i %l‘\l\"ht ] .
1 C. 0.0345 g)= (8/A)P(A) T P(Bf’” il
D. 0.8 ?{ 1

answer (§/29) (4130)4(6/29) (71/*
Use the information below to the following two questions (8-9)

X

75

Given the following probability distribution
80

85

20

95

P(x)

0.23

042

0.11

0.12

q

18-

5.3

19

Iy

8. The mean of the random variable X is
A. 8BS M= :FIVDB’)

B. 83.2

C. 87.1

O 844

¥ 9. The variance of the random variable X is
Lt - H
(}g..!"'i. ?* .

A 3214

® 567
C. 1032.98

D. 85

v 10.1ftwo events, ( cach with probability greater than zero) are independent then

A. They also musi be complements.
@ They also could be complements.

C. They cannot be complements.
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Suppose a statistic class contains 70% male and 10% female students. It is known that
in a test, 5% of males and 10% of females got an A" grade,

A Ifone student from this class is randomly sclected, what is the probability that the
selected student has an “A™ grade? H . dtealé
?L“') - P[nnh} 3 P LFnh‘ T - Fe manlr
=p (MRY M« 0 (AIF)P(F)

= o005 (e3)+ e {"i)/

B. If one student from this class is randomly selected and observed to have an “A™
grade, what is the probability that this is a male student?

p(M/n) = PIANAY _ p(wR) o

DA ) » PLA) -
(& [3) 53 ﬁ/
G

, 0.0 b
C. If one student from this class is randomly sclected, w‘haf is the probability that the

student has an “A" grade and a[: student is male?

M
~ e,
vdiama
> o
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hat the sequence of

1§, Suppose we toss o fair coin five lmes. What s the probability !

posses vields three heads and two tls?

nilds ) ,[g.'; J' [mf] -
000125 3

C. 0375

D. 623

I For a gepmetnic radom uurulﬂel with parameter (p), one of the following stalcrnents 1s

b,

A Axibe value of the random varisble x increases, the probability mass function
INETT A

@ Asthe value of the random variable x increases, the probability mass function
decreascy.

€. As the value of the modom variable x increases, the cumulative distnbution function
decreases.

17. A can company reports that the number of breakdowns per 8<hour shift on its machine-
operated axsembly line follows a Potsson distribution with a mean of 1.5. Assuming that
the machine opernies independently scross shifts, what is the probability of no

breakdowns during three consecutive 8 hour shifts? l‘ . AT = l.';
: o
. 0 =45 "v
C. 06065 & $
0221 — y \k

0.0111 i\"'{
'y

18 Ad—uﬂiuurdistmhnu r?nu{mu: students received an “A” for the final exam. *
+Five students are sclected at random from 1his group. what is the probabality that at Jeast
?dhhﬂm!!mm“'ﬁ‘hﬁfmim

B ) @ % &
.. )\ \
%) (%)
ml )L. (qr,?) El
(IR BT
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Use

(1-

e

the follow
12)
)]
0.35
Fx) = g‘:

1
1.P(4<x<12)

@. 025
B. 035
C. 0.6
D. 0.95

s

12. P(x > 12)

0

. 04

. C. 0.6
0. 1

x <35
JO=X=S
SEXY 7.5
75<x<12
12<x

o

ts I
Sl

g cumulative distribution function to answer the following two questions

I3. The following circuit operates if and only if there is a path of functional devices from left

o ughl. Assume that the devices fail independently and the probabili ilure of each
device is as shown What is the probability that all devices in this circuit operate?

o

L4

ooz

]

[um om

A. 0903919
0.989985

C. 095

D. 7ero

© None of the above

14. The range of the random variable X is | 1,2,3, x| where x
cqually likely and the mean ( 5=1.75 ). Determing x|

\.?C‘; \ 424 34K
N

A. 0.0625
B, 0.25

o

N 4

E

G

e

4 #1\.- -o\]

1{ = low0)io3) | « |1~ loal.eny J = ffﬂl

Q
/

Qe

is unknown. If each value is
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Question 1

Select the best answer for each of the following questions, and fill

your answer in the table below

 Question | Solution

| D o

- —=
3 A
4 ) &
5 IR 2~
6 @ ‘7l
7 211
g b &
9 g X

Question | Solution
10 A
11 P‘ L=
12 €A
13 E X
14 ¢
15 A
16 B .~
17 D' X
18 e X |

o

v
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